



B.B.A. DEGREE EXAMINATION — 
JANUARY, 2009.

First Year

BUSINESS MATHEMATICS AND STATISTICS

Time : 3 hours
Maximum marks : 75

Answer for 5 marks question should not 
exceed 2 pages.

Answer for 15 marks questions should not 
exceed 5 pages.

PART A — (3 ( 5 = 15 marks)

Answer any THREE questions.

All questions carry equal marks.

1. What are the sources of Primary data?

•uÀ {ø»°ß Buõµ[PÒ ¯õøÁ?

2. If 
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3. Find the interest on Rs. 1,000 for 10 years at 4% per annum, the interest being paid quarterly.

¹£õ´ 1,000 US, 4 \uÃu® Ãu® 10 BskPÐUPõÚ Ámi JÆöÁõ¸ PõÀ BskUS ö\¾zu¨£kQÓx. BÚõÀ Ámi GÆÁÍÄ Gß£øuU PnUQhÄ®.

4. From the under mentioned details, calculate standard deviation

	Marks:
	10
	20
	30
	40
	50
	60

	No of students:
	8
	12
	20
	10
	7
	3


¤ßÁ¸® Â£µ[PÎ¼¸¢x vmh Â»UPzøuU PnUQkP.

	©v¨ö£sPÒ:
	10
	20
	30
	40
	50
	60

	©õnÁºPÎß GsoUøP:
	8
	12
	20
	10
	7
	3


5. From the following data construct Fisher’s Ideal Index number :

	
	1980
	1990

	Commodity
	Price
Rs.
	Value 
Rs.
	Price 
Rs.
	Value 
Rs.

	A
	5
	50
	6
	72

	B
	7
	84
	10
	80

	C
	10
	80
	12
	96

	D
	4
	20
	5
	30

	E
	8
	56
	8
	64


¤ßÁ¸® ¦ÒÎ ÂÁµ[PÎ¼¸¢x ¤å›ß ^›¯ •øÓ SÔ±möhs PnUQkP.

	
	1980
	1990

	£sh[PÒ
	Âø»
¹.
	©v¨¦
¹.
	Âø»
¹.
	©v¨¦
¹.

	A
	5
	50
	6
	72

	B
	7
	84
	10
	80

	C
	10
	80
	12
	96

	D
	4
	20
	5
	30

	E
	8
	56
	8
	64


PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

6. What is correlation? Explain the different types of Correlation?

JmkÓÄUöPÊ GßÓõÀ GßÚ? JmkÓÄU öPÊÂß £À÷ÁÖ ÁøPPøÍ ÂÁ›.

7. Calculate 5 yearly moving averages of number of students studying in a college shown by the following figures.

	Year
	No of students
	Year
	No of students

	1987
	332
	1992
	405

	1988
	317
	1993
	410

	1989
	357
	1994
	427

	1990
	392
	1995
	405

	1991
	402
	1996
	438


J¸ Pø»U PÀ¿›°À £°¾® ©õnÁºPÎß GsoUøP SÔzu 5 Bsk |P¸® \µõ\›PøÍU PnUQkP.

	Bsk
	©õnÁºPÎß GsoUøP
	Bsk
	©õnÁºPÎß GsoUøP

	1987
	332
	1992
	405

	1988
	317
	1993
	410

	1989
	357
	1994
	427

	1990
	392
	1995
	405

	1991
	402
	1996
	438


8. A sum of Rs. 50, 440 is borrowed to be paid back in three yearly equal instalments. What is the annual instalment if the rate of interest is 5% per annum compounded yearly?

¹. 50,440 I PhÚõP ö£ØÖ ‰ßÖ uÁønPÍõP v¸®£ ö\¾zu¨£kQÓx. Bsk JßÖUS 5 \uÃu©õP Tmk Ámi¯õP ö\¾zx® ÷£õx, Á¸hõ¢vµ uÁønz öuõøP GÆÁÍÄ GßÖ PnUQhÄ®.

9. In a class of 60 students, 41 students play cricket, 31 play football, 32 play hockey, 21 play cricket and football, 15 play football and hockey and 19 play cricket and hockey. If every student plays at least one game, how many students play all the games?

60 ©õnÁºPÒ öPõsh ÁS¨¤À, 41 ©õnÁºPÒ Q›UöPm ÂøÍ¯õkQÓõºPÒ, 31 ©õnÁºPÒ PõÀ£¢x ÂøÍ¯õkQÓõºPÒ, 32 ©õnÁºPÒ íõUQ ÂøÍ¯õkQÓõºPÒ. 21 ©õnÁºPÒ Q›UöPm ©ØÖ® PõÀ£¢x ÂøÍ¯õkQÓõºPÒ. 15 ©õnÁºPÒ PõÀ£¢x ©ØÖ® íõUQ ÂøÍ¯õkQÓõºPÒ 19 ©õnÁºPÒ Q›UöPm ©ØÖ® íõUQ ÂøÍ¯õkQÓõºPÒ  JÆöÁõ¸ ©õnÁ¸® SøÓ¢u £m\® J¸ ÂøÍ¯õmk ÂøÍ¯õk® £m\zvÀ, GzuøÚ ©õnÁºPÒ ‰ßÖ ÂøÍ¯õmkPøÍ²® ÂøÍ¯õkÁõºPÒ?

10. Height of the father and son are given below. Find the height of the son when the height of the father is 
70 inches.

	Father (inches):
	71
	68
	66
	67
	70
	71
	70
	73
	72
	65
	66

	Son (inches):
	69
	64
	65
	63
	65
	62
	65
	64
	66
	59
	62


u¢øu ©ØÖ® ©PßPÎß E¯µ[PøÍ¨ £ØÔ¯ ¦ÒÎ ÂÁµ[PÒ R÷Ç öPõkUP¨£mkÒÍÚ. CøÁPøÍU öPõsk u¢øu°ß E¯µ® 70 A[S»® GÝ® ÷£õx ©PÛß E¯µzøu PõsP.

	u¢øu (A[S»®):
	71
	68
	66
	67
	70
	71
	70
	73
	72
	65
	66

	©Pß (A[S»®) :
	69
	64
	65
	63
	65
	62
	65
	64
	66
	59
	62


11. From the following data, find out Pearson’s 
co-efficient of correlation.

	Demand (kgs) :
	28
	34
	41
	57
	52
	68
	62
	75

	Price Rs. :
	14
	18
	23
	28
	30
	34
	37
	41


¤ßÁ¸® Â£µ[PÎ¼¸¢x ¤¯º\Ûß JmkÓÄU öPÊøÁU PõsP.

	÷uøÁ Q.Q:
	28
	34
	41
	57
	52
	68
	62
	75

	Âø» ¹.:
	14
	18
	23
	28
	30
	34
	37
	41


12. Write short notes on:

(a)
Index number

(b)
Mean deviation

(c)
Standard deviation

(d)
Lorenz curve 

]Ö SÔ¨¦ ÁøµP.

(A)
SÔ±mk Gs

(B)
\µõ\› Â»UP®

(C)
vmh Â»UP®

(D)
»õºßì ÁøÍÄ
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